EAh§3] AL g1 25

FXxst7| E1 X2 B2 d=t ZEAE

EH o Hip>

A Sy THOE FUYAR 7Y RX
RAUH Z2HE J5s

(Eh9l : 7i=5>, siokel)
o 3 A g of &b o

TS k| MTIRE | MTAR | 101N | TN | B %

A 6 13 31 69,019 | 61,858 7,161

7| /&l ot 2 3 15 39,889 | 41,161 | A1,272
9| X5 x| 2t 1 3 5 2,528 2,495 33
HEA M x| 2} 1 2 2 157 157 0
O] 2i Abgi7H 2o} 2 5 9 26,445 | 18,045 8,400
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S LKA
Fu: JIYRK Y SXDIE T (MY - SAIIY
Shel: 01| BN (Srol: &)
2 - RA(3A) - NRAY - BY INEH Hlus2
olgs 41,161,066 A1,271,695
2 30,084,448 1,373,000
= 11,076,618 101,305
JIYRR X XY EL (MY - 2|/ -3 40,257,117 A1,271,695
=3)
= 30,084,448 1,373,000
= 10,172,669 101,305
OIFIIY HEXIE 22,062,525 695,500
= 15,328,448 0
= 6,734,077 695,500
EINE O1&DIY 2X3 X 4,178,836 695,500
403 XHXISHHISXH=0I D 4,178,8% 695,500
01 XKXISHHIXZEE 4,178,8% 695,500
CUEP=REES 4,178,836 695,500
SHEX EH - B2l 15,342,875 A315,505
2 13,383,000 0
= 1,959,875 A315,59
SHAASK BLS FX 600,000 315,505
307 BIRt0IA 100,000 265,505
08 OIX2X2 100,000 265,505
OYFH SX2 0IXEH 100,000 165,595
308 KXISHHSOIH 500,000 £250,000
01 XIS A ES 500,000 £250,000
OLFYUH SH28H| N 350,000 A175,000
OYFUH H4H2lH N 150,000 AT75,000
2 W 2EEY XY 1,978,217 A1,651,600
3 1,373,000 1,373,000
= 605,217 278,600
FPeLst NAHH 75 53,000 A13,000
RI2¢0 & 13,000 A13,000
DItAEE 13,000 £A13,000
oUjss zeiaz 3,000 £3,000
OUHSH HAAIHS AN 10,000 £10,000
HURSME S48 |4 207,000 £5,000
202 04| 7,000 5,000
01 2LH0iH| 7,000 £5,000
OFUYLFME YRFH 7,000 £5,000
ZeIY EXEES N (2IHREX 153,597 88,980
RI2HXH20I W 153,597 88,980
EINETES 153,597 88,980




SA: ISR
B J|YRK W SXIIE (MY - SAIY/MYAS - DEFH)

SHel: &Y Y ITLY X (S5 58)

S - FHB . S(ED) - NEAY - HES pJE-11 Bz

| ozeDIy sx=xa 64,617 153,507 88,980

SWIIY D8EES NV(2D) 0 1,544,620 A1,544,620

z 0 1,373,000 1,373,000

= 0 171,620 A171,620

403 RXISHHSKH20IH 0 1,544,620 A1,544,620

z 0 1,373,000 1,373,000

= 0 171,620 A171,620

01 RXSHAESE 0 1,544,620 A 1,544,620

on8EX2 X 0 1,544,620 A1,544,620

z 0 1,373,000 1,373,000

= 0 171,620 A171,620

AMKR TS AFRIEE (A - S4TI/PHUSTIRK) 604,700 604,700 0

FHXRRY JIPHAlL 604,700 604,700 0

S ZHARAL N =& 604,700 604,700 0

201 Yer2 ] 450,000 515,000 £65,000

03 A2 185,000 250,000 65,000

OSXIRXI &3l H 135,000 200,000 65,000

202 Ot 49,700 29,700 20,000

03 22AL20iH| 20,000 0 20,000

©=71% KX 20,000 0 20,000

207 AR 75,000 45,000 30,000

NIEEEET 75,000 45,000 30,000

OURINYRN ¥ HoLY eY S 30,000 0 30,000

01 YsrBAE 30,000 15,000 15,000

08 2I8IEH0iH| 15,000 0 15,000

CHENEPE S 15,000 0 15,000

- 300 -




